# A necessary and sufficient condition for gelation of a reversible Markov process of polymerization 

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 2003 J. Phys. A: Math. Gen. 36893
(http://iopscience.iop.org/0305-4470/36/4/303)
View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 171.66.16.89
The article was downloaded on 02/06/2010 at 17:06

Please note that terms and conditions apply.

# A necessary and sufficient condition for gelation of a reversible Markov process of polymerization 

Dong Han<br>Department of Mathematics, Shanghai Jiao Tong University, Shanghai 200030, People's Republic of China<br>E-mail: donghan@mail.sjtu.edu.cn

Received 15 August 2002, in final form 25 November 2002
Published 15 January 2003
Online at stacks.iop.org/JPhysA/36/893


#### Abstract

A reversible Markov process as a chemical polymerization model which permits the coagulation and fragmentation reactions is considered. We present a necessary and sufficient condition for the occurrence of a gelation in the process. We show that a gelation transition may or may not occur, depending on the value of the fragmentation strength, and, in the case that gelation takes place, a critical value for the occurrence of the gelation and the mass of the gel can be determined by close forms.


PACS numbers: 82.35.Jk, 02.50.Ga, 82.70.Gg

## 1. Introduction

For systems of interacting polymers evolving through the irreversible aggregation reaction

$$
(j)+(k) \xrightarrow{R(j, k)}(j+k)
$$

whereby polymers of lengths $j$ and $k$ link themselves together to form a polymer of length $j+k$ (the number $R(j, k)$ denotes the corresponding reaction rate), the standard approach is through Smoluchlovski's coagulation equations to describe the coupled evolution of the densities $c_{j}(t)$ of polymers made up of $j$ units $(j=1,2,3, \ldots)$ in an infinite-volume homogeneous system [5, 49]:

$$
C_{j}^{\prime}(t)=\frac{1}{2} \sum_{i+k=j} K(i, k) C_{i}(t) C_{j}(t)-C_{j}(t) \sum_{l=1}^{\infty} K(j, l) C_{l}(t) .
$$

An alternative approach allowing a more detailed description has been pioneered by Marcus [29] and studied in detail by Lushnikov [27], which is the stochastic counterpart of Smoluchlovski's coagulation equations, namely the Marcus-Lushnikov coagulation model or process.

The connection between the two models is as follows: let $N_{1}(t), N_{2}(t), \ldots, N_{N}(t)$ be the random variables denoting the numbers of monomers, dimers, $\ldots, N$-mers at time $t$,
respectively, in the Marcus-Lushnikov process, then the expected values $(1 / V) E\left[N_{j}(t)\right]$ should coincide in the thermodynamic limit $N \rightarrow \infty, V \rightarrow \infty$ and $N / V=\rho$ with the densities $c_{j}(t)$ of Smoluchlovski's model (see [21]). Various aspects of the two models have been extensively studied by many authors (see $[3,5,8,12,15,19,21,25,27,29-30$, 42-46]). Recently, rigorous mathematics was brought to bear on the two models making the cooperation between mathematics and physics more fruitful. For readers who are interested in the mathematical aspects of the models, we recommend the survey paper of Aldous [1].

Perhaps what makes the two models both interesting and difficult is the possible occurrence of a gelation, the density dropping phenomenon, within a finite time. In Smoluchlovski's model this manifests by an apparent lack of conservation of the density of units:

$$
\begin{equation*}
\sum_{j=1}^{\infty} j c_{j}(t)<\sum_{j=1}^{\infty} j c_{j}(0) \tag{1}
\end{equation*}
$$

for $t>t_{c}$, where $t_{c}$ is the critical time of gelation transition. This density dropping phenomenon seems to contradict the fact that particles are neither created nor destroyed, but the contradiction is resolved once one realizes that the left-hand side of (1) represents only the contribution of all polymers of finite length to the total density of units. This is also interpreted as an indication of the formation of gel, or an infinite size cluster (see [7, 9, 20, 24, 26, 34, 39, 47-49]). Gelation in the case $R(j, k)=j k$ is known to be equivalent to the emergence of a giant component in the random graph theory, a result which was initiated by Erdös and Rényi [13] and extensively studied by many authors [2, 6, 22, 31-32].

For Smoluchlovski's model the kinetic theory of polymerization does not contain the equilibrium theory of Flory [14] and Stockmayer [37] as a limiting case for large values of time, due to the absence of fragmentation effects. In fact, as clusters grow in size, break-up processes become more important, and the irreversible coagulation reaction should be replaced by a coagulation-fragmentation reaction. Van Dongen and Ernst [40, 41] and Spouge [36] were the first to extend Smoluchlovski's coagulation equations by including the fragmentation reaction. Since then, many studies of the kinetic equations and their stochastic counterparts containing the combined effects of coagulation and fragmentation have been done (see [4, 10, $11,16-18,23,36,40-41,44]$ ).

Although there are many studies devoted to the deterministic and stochastic models based on the coagulation-fragmentation reaction of polymerization, the kinetic model of reversible polymerization proposed by Van Dongen and Ernst [41] and its stochastic counterpart have received minimal attention. It is worthwhile to study the kinetic model of reversible polymerization in order to predict the occurrence of a gelation transition, depending on the value of the fragmentation strength, in the equilibrium theory of Flory and Stockmayer.

This paper investigates the gelation problem in a stochastic counterpart of the kinetic model of reversible polymerization. The main objective of this paper is to present a necessary and sufficient condition for the occurrence of a gelation. Section 2 gives the description of a reversible Markov process of polymerization considered in the paper. A necessary and sufficient condition for the occurrence of a gelation is proved in section 3. Some applications, including two examples and a proposition, are contained in section 4. The paper concludes in section 5 , with some discussions on the gelation.

## 2. A reversible Markov process of polymerization

As in [8, 41], we restrict our discussion to homogeneous systems of polymers where diffusion effects are ignored. We also assume that intramolecular reactions do not occur, and therefore only branched-chain (non-cyclic) polymers are formed and all unreacted functional groups are
equally reactive. A state of a finite homogeneous system of polymers of lengths $1,2,3, \ldots, N$ in the volume $V$ is described by a vector $\underline{n}=\left(n_{1}, n_{2}, \ldots, n_{k}, \ldots, n_{N}\right)$, the $k$ th component of which is the number of $k$-mers. Now define, as in [17], a Markov process of polymerization as follows: the process, denoted by $\left\{M_{N}(t), t \geqslant 0\right\}$, is a continuous-time Markov process on the state space

$$
\begin{equation*}
\Omega_{N}=\left\{\underline{n} \in\{0,1,2, \ldots, N\}^{N}: \sum_{k=1}^{N} k n_{k}=N\right\} \tag{2}
\end{equation*}
$$

with transition rates

$$
Q_{\underline{n} \underline{n}^{\prime}}=\left\{\begin{array}{lll}
\frac{R(k, l)}{N^{2}} n_{k} n_{l} & \underline{n^{\prime}}=n_{k l}^{+} & k \neq l  \tag{3}\\
\frac{R(k, l)}{N^{2}} n_{k}\left(n_{k}-1\right) & \underline{n^{\prime}}=n_{k l}^{+} & k=l \\
\frac{F(k, l)}{N} n_{k+l} & \underline{n^{\prime}}=n_{k l}^{-} & \\
0 & \text { otherwise } &
\end{array}\right.
$$

where

$$
\begin{array}{ll}
n_{k l}^{+}=\left\{n_{1}, \ldots, n_{k}-1, \ldots, n_{l}-1, \ldots, n_{k+l}+1, \ldots, n_{N}\right\} & \text { if } \quad k \neq l \\
n_{k l}^{+}=\left\{n_{1}, \ldots, n_{k}-2, \ldots, n_{2 k}+1, \ldots, n_{N}\right\} & \text { if } \quad k=l \\
n_{k l}^{-}=\left\{n_{1}, \ldots, n_{k}+1, \ldots, n_{l}+1, \ldots, n_{k+l}-1, \ldots, n_{N}\right\} & \text { if } \quad k \neq l \\
n_{k l}^{-}=\left\{n_{1}, \ldots, n_{k}+2, \ldots, n_{2 k}-1, \ldots, n_{N}\right\} & \text { if } \quad k=l .
\end{array}
$$

In (3), $R(k, l)$ represents the coagulation rate which describes the congelation process linking $k$-mers and $l$-mers to form $(k+l)$-mers, $F(k, l)$ represents the fragmentation rate which describes the fragmentation process from $(k+l)$-mers to $k$-mers and $l$-mers, and $R(k, l)$ and $F(k, l)$ satisfy the following detailed balance condition (see [41]):

$$
\begin{equation*}
R(k, l) f(k) f(l)=\lambda F(k, l) f(k+l) \tag{4}
\end{equation*}
$$

where $\frac{1}{\lambda}(\lambda>0)$ represents the fragmentation strength and $k!f(k)$ denotes the number of distinct ways of forming a $k$-mer from $k$ distinguishable units. Equation (4) states that the number of distinct ways for $(k+l)$-mers to break up into $k$-mer and $l$-mers $(\lambda F(k, l) f(k+l)$ ) equals the number of bonds between $(k)$ and $(l)$ clusters in $(k+l)$-mer configurations $(R(k, l) f(k) f(l))$. The choice of $Q_{\underline{n} \underline{n}^{\prime}}$ reflects the fact that in the homogeneous system (ignoring diffusion effects), reaction occurs with a probability proportional to the number of reactants and inversely proportional to the volume; here the density is taken to be equal to 1 , so that the volume coincides with the total number of units $N$.

As has been shown in [17] the Markov process $\left\{M_{N}(t), t \geqslant 0\right\}$ is a reversible Markov chain and has a unique stationary distribution:

$$
\begin{equation*}
P_{N}(\underline{n})=\frac{1}{\pi_{N}} \prod_{k \geqslant 1} \frac{\left[\frac{N}{\lambda} f(k)\right]^{n_{k}}}{n_{k}!} \quad \underline{n} \in \Omega_{N} \tag{5}
\end{equation*}
$$

where

$$
\begin{equation*}
\pi_{N}=\pi_{N}\left(\frac{N}{\lambda}\right)=\sum_{\underline{n} \in \Omega_{N}} \prod_{k \geqslant 1} \frac{\left[\frac{N}{\lambda} f(k)\right]^{n_{k}}}{n_{k}!} . \tag{6}
\end{equation*}
$$

$\pi(N)$ is usually called the partition function of the process. It has an integral formula

$$
\begin{equation*}
\pi_{N}=\pi_{N}\left(\frac{N}{\lambda}\right)=\frac{1}{2 \pi \mathrm{i}} \int_{\Gamma} \exp \left\{\frac{N}{\lambda} F(x)-N \log x\right\} x^{-1} \mathrm{~d} x \tag{7}
\end{equation*}
$$

where $\Gamma$ denotes a contour surrounding the origin $x=0$ and the series $F(x)$

$$
\begin{equation*}
F(x)=\sum_{k=1}^{\infty} f(k) x^{k} \tag{8}
\end{equation*}
$$

has a positive radius, $r$, of convergence, that is $F(x)<\infty$ for $0 \leqslant x<r$.

## 3. A necessary and sufficient condition for gelation

In this section we first give a definition of a gelation in the reversible Markov process of polymerization.

Definition 1. Let $N_{k}$ be a random number of $k$-mers and $E(\cdot)$ denote the expectation corresponding to the stationary probability distribution $P_{N}(\cdot)$ in (5). We say that there is a gelation in the reversible polymerization process, or the reversible polymerization process has a gelation, if and only if there is a critical value $\lambda_{c}>0$ such that

$$
\begin{equation*}
\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right)=1 \tag{9}
\end{equation*}
$$

for $\lambda \leqslant \lambda_{c}$ and

$$
\begin{equation*}
\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right)<1 \tag{10}
\end{equation*}
$$

for $\lambda>\lambda_{c}$.
Note that the definition above is the same as usually used in physical literature. Other definitions of gelation can be found in [1, 7, 23]. If we denote the mass of the sol and gel by $S(\lambda)$ and $G(\lambda)$, respectively, then

$$
S(\lambda)+G(\lambda)=1
$$

and

$$
\begin{equation*}
G(\lambda)=1-S(\lambda)=1-\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right) \tag{11}
\end{equation*}
$$

Thus, $G(\infty)=\lim _{\lambda \rightarrow \infty} G(\lambda)$ can be defined as the maximum mass of the gel.
Theorem 1. If there exists a gelation in the reversible polymerization process, then

$$
\begin{equation*}
F^{\prime}(r)<\infty \quad F^{\prime \prime}(r)=\infty \tag{12}
\end{equation*}
$$

and the critical value $\lambda_{c}$ satisfies

$$
\begin{equation*}
\lambda_{c} \geqslant r F^{\prime}(r) \tag{13}
\end{equation*}
$$

Proof. Let $F^{\prime}(r)=\infty$. Then, for any $\lambda>\lambda_{c}$ we can choose $r_{0}<r$ such that $r_{0} F^{\prime}\left(r_{0}\right)=\lambda$. It follows from (5) and (6) that

$$
\begin{align*}
E\left(N_{k}\right) & =\sum_{\underline{n} \in \Omega_{N}} n_{k} P_{N}(\underline{n}) \\
& =\frac{N f(k)}{\lambda \pi_{N}} \sum_{\underline{n} \in \Omega_{N}} \frac{\left[\frac{N}{\lambda} f(k)\right]^{n_{k}-1}}{\left(n_{k}-1\right)!} \prod_{j \neq k}^{N} \frac{\left[\frac{N}{\lambda} f(j)\right]^{n_{j}}}{n_{j}!} \\
& =\frac{N f(k)}{\lambda \pi_{N}} \sum_{\underline{n} \in \Omega_{N-k}} \prod_{j=1}^{N-k} \frac{\left[\frac{N}{\lambda} f(j)\right]^{n_{j}}}{n_{j}!} \\
& =\frac{N f(k)}{\lambda} \frac{\pi_{N-k}\left(\frac{N}{\lambda}\right)}{\pi_{N}\left(\frac{N}{\lambda}\right)} . \tag{14}
\end{align*}
$$

By (7) and (8) we have

$$
\pi_{N}=\pi_{N}\left(\frac{N}{\lambda}\right)=\frac{1}{2 \pi \mathrm{i}} \int_{\Gamma} \exp \left\{\frac{N}{\lambda} F(x)-N \log x\right\} x^{-1} \mathrm{~d} x
$$

where $\Gamma$ is a contour with its radius equal to $r_{0}$ surrounding the origin $x=0$. Let $D_{N}(x)=\frac{N}{\lambda} F(x)-N \log x$, then $D_{N}^{\prime}\left(r_{0}\right)=0$. Obviously, the root $r_{0}$ is unique in $[0, r)$, since $x F^{\prime}(x)$ is a strictly monotone increasing function on $[0, r)$. Such a root is a saddle point of $\mathrm{e}^{D_{N}(x)}$. By a standard saddle-point-type argument (see [33], p 96) we can obtain

$$
\pi_{N}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{1}{\sqrt{2 \pi A\left(r_{0}\right) N}} \exp \left\{\frac{N}{\lambda} F\left(r_{0}\right)-N \log r_{0}\right\}
$$

where

$$
A\left(r_{0}\right)=\frac{r_{0}^{2} F^{\prime \prime}\left(r_{0}\right)+r_{0} F^{\prime}\left(r_{0}\right)}{r_{0} F^{\prime}\left(r_{0}\right)}
$$

Note that

$$
\begin{equation*}
\int_{-\infty}^{+\infty} \exp \left\{\mathrm{i} b x-a^{2} x^{2}\right\} \mathrm{d} x=\frac{\sqrt{\pi}}{a} \exp \left\{-\frac{b^{2}}{4 a^{2}}\right\} \tag{15}
\end{equation*}
$$

where $a>0$ and $\mathrm{i}=\sqrt{-1}$. Thus, we also have

$$
\pi_{N-k}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{r_{0}^{k}}{\sqrt{2 \pi A\left(r_{0}\right) N}} \exp \left\{-\frac{k^{2}}{2 A\left(r_{0}\right) N}\right\} \exp \left\{\frac{N}{\lambda} F\left(r_{0}\right)-N \log r_{0}\right\}
$$

Substituting the above two formulae into (14), immediately yields

$$
E\left(N_{k}\right)=\frac{N f(k)}{\lambda} \frac{\pi_{N-k}\left(\frac{N}{\lambda}\right)}{\pi_{N}\left(\frac{N}{\lambda}\right)}=(1+o(1)) \frac{N f(k)}{\lambda} r_{0}^{k} \exp \left\{-\frac{k^{2}}{2 A\left(r_{0}\right) N}\right\}
$$

and therefore

$$
\frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right)=(1+o(1)) \frac{1}{\lambda} \sum_{k=1}^{N} k f(k) r_{0}^{k} \exp \left\{-\frac{k^{2}}{2 A\left(r_{0}\right) N}\right\}
$$

Note that $\frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right) \leqslant 1$ and $r_{0} F^{\prime}\left(r_{0}\right)=\lambda$. For any small $\varepsilon>0$ we can choose two large numbers $n_{0}$ and $n_{1}$ with $n_{0}<n_{1}$ such that

$$
(1+o(1)) \frac{1}{\lambda} \sum_{k=1}^{n_{0}} k f(k) r_{0}^{k} \exp \left\{-\frac{k^{2}}{2 A\left(r_{0}\right) N}\right\}>1-\varepsilon
$$

for $N>n_{1}$. Thus

$$
\frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right) \rightarrow 1
$$

as $N \rightarrow \infty$. This is a contradiction to the definition of a gelation. That is, the number $F^{\prime}(r)$ satisfies $F^{\prime}(r)<\infty$.

If $\lambda_{c}<r F^{\prime}(r)$, then we can choose two numbers $\lambda_{1}$ and $r_{1}$ such that $\lambda_{c}<\lambda_{1}<r F^{\prime}(r)$ and $\lambda_{1}=r_{1} F^{\prime}\left(r_{1}\right)$. Note that $r_{1}<r$. By the same method used above we can obtain $\frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right) \rightarrow 1$ for $\lambda_{c}<\lambda_{1}$. This is a contradiction to (10). Thus, we have $\lambda_{c} \geqslant r F^{\prime}(r)$.

Assume now that $F^{\prime \prime}(r)<\infty$. Let $x=r \mathrm{e}^{\mathrm{i} \theta},-\pi \leqslant \theta \leqslant \pi$. Then we have the following Taylor series near $x=r$ :

$$
\begin{aligned}
F\left(r \mathrm{e}^{\mathrm{i} \theta}\right) & =F(r)+r F^{\prime}(r)\left(\mathrm{e}^{\mathrm{i} \theta}-1\right)+\frac{1}{2} r^{2} F^{\prime \prime}(r)\left(\mathrm{e}^{\mathrm{i} \theta}-1\right)^{2}+o\left(\theta^{2}\right) \\
& =F(r)+\mathrm{i} r F^{\prime}(r) \theta-\frac{1}{2}\left[r F^{\prime}(r)+r^{2} F^{\prime \prime}(r)\right] \theta^{2}+o\left(\theta^{2}\right) .
\end{aligned}
$$

It follows that

$$
\begin{aligned}
\pi_{N} & =\frac{1}{2 \pi \mathrm{i}} \int_{\odot} \exp \left\{\frac{N}{\lambda} F(x)-N \log x\right\} x^{-1} \mathrm{~d} x \\
& =\frac{1}{2 \pi} \int_{-\pi}^{\pi} \exp \left\{\frac{N}{\lambda} F\left(r \mathrm{e}^{\mathrm{i} \theta}\right)-N \log r \mathrm{e}^{\mathrm{i} \theta}\right\} \mathrm{d} \theta \\
& =\frac{D_{N}(r)}{2 \pi} \int_{-\pi}^{\pi} \exp \left\{-\mathrm{i}\left[1-\frac{r F^{\prime}(r)}{\lambda}\right] N \theta-\frac{r F^{\prime}(r) A(r)}{2 \lambda} N \theta^{2}+o\left(\theta^{2}\right)\right\} \mathrm{d} \theta \\
& =\frac{D_{N}(r)}{2 \pi \sqrt{N}} \int_{-\pi \sqrt{N}}^{\pi \sqrt{N}} \exp \left\{-\mathrm{i}\left[1-\frac{r F^{\prime}(r)}{\lambda}\right] \sqrt{N} t-\frac{r F^{\prime}(r) A(r)}{2 \lambda} t^{2}+o\left(\frac{t^{2}}{N}\right)\right\} \mathrm{d} t
\end{aligned}
$$

where © is a contour with its radius equal to $r$. By (15) we have

$$
\pi_{N}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{\sqrt{\lambda} D_{N}(r)}{\sqrt{2 \pi r F^{\prime}(r) A(r)}} \exp \left\{-\frac{N\left[1-\frac{r F^{\prime}(r)}{\lambda}\right]^{2}}{2 r F^{\prime}(r) A(r) / \lambda}\right\}
$$

Similarly,

$$
\pi_{N-k}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{\sqrt{\lambda} D_{N}(r) r^{k}}{\sqrt{2 \pi r F^{\prime}(r) A(r)}} \exp \left\{-\frac{N\left[1-\frac{r F^{\prime}(r)}{\lambda}-\frac{k}{N}\right]^{2}}{2 r F^{\prime}(r) A(r) / \lambda}\right\}
$$

Then

$$
\frac{\pi_{N-k}\left(\frac{N}{\lambda}\right)}{\pi_{N}\left(\frac{N}{\lambda}\right)}=(1+o(1)) r^{k} \exp \left\{\frac{k\left[2\left(1-\frac{r F^{\prime}(r)}{\lambda}\right)-\frac{k}{N}\right]}{2 r F^{\prime}(r) A(r) / \lambda}\right\} .
$$

Choose $\lambda>2 r F^{\prime}(r)$ such that

$$
\frac{2\left(1-\frac{r F^{\prime}(r)}{\lambda}\right)-\frac{k}{N}}{2 r F^{\prime}(r) A(r) / \lambda} \geqslant \frac{1-\frac{2 r F^{\prime}(r)}{\lambda}}{2 r F^{\prime}(r) A(r) / \lambda}=d_{\lambda}>0 .
$$

Thus

$$
\begin{aligned}
1 & \geqslant \frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right)=(1+o(1)) \frac{1}{\lambda} \sum_{k=1}^{N} k f(k) r^{k} \exp \left\{\frac{k\left[2\left(1-\frac{r F^{\prime}(r)}{\lambda}\right)-\frac{k}{N}\right]}{2 r F^{\prime}(r) A(r) / \lambda}\right\} \\
& \geqslant(1+o(1)) \frac{1}{\lambda} \sum_{k=1}^{N} k f(k)\left(r \mathrm{e}^{d_{\lambda}}\right)^{k} .
\end{aligned}
$$

Obviously,

$$
\frac{1}{\lambda} \sum_{k=1}^{N} k f(k)\left(r \mathrm{e}^{d_{\lambda}}\right)^{k} \rightarrow \infty
$$

as $N \rightarrow \infty$, since $r$ is the radius of convergence for the series $F^{\prime}(x)$. It is contradictory to $\frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right) \leqslant 1$ for every $N \geqslant 1$. This means that $F^{\prime \prime}(r)=\infty$.

Next, we prove a lemma which is a slightly modified one given by Leyvraz [25].
Lemma 1. Let the $a_{j}$ be positive numbers such that

$$
F(z)=\sum_{j=1}^{\infty} a_{j} z^{j}
$$

has convergence radius 1. Define $S_{k}=\sum_{j=1}^{k} a_{j}$. If there exists a positive number $\lambda$ such that

$$
S_{k} \sim k^{\lambda} \quad(k \rightarrow \infty)
$$

then

$$
F(z) \sim(1-z)^{-\lambda} \quad(z \rightarrow 1)
$$

where $x \sim y$ means that $x / y \rightarrow 1$.
Proof. Since $k^{\lambda} \sim\left|\binom{-\lambda-1}{k}\right|$, we can choose $M$ so large that

$$
\begin{aligned}
\sum_{j=1}^{\infty} a_{j} z^{j}= & (1-z) \sum_{j=1}^{M-1} S_{j} z^{j}+(1-z) \sum_{j=M}^{\infty} S_{j} z^{j} \\
& =(1-z) \sum_{j=1}^{M-1} S_{j} z^{j}+(1+o(1))(1-z) \sum_{j=M}^{\infty}\left|\binom{-\lambda-1}{k}\right| z^{j} \\
& =(1-z) \sum_{j=1}^{M-1} S_{j} z^{j}+(1+o(1))(1-z)\left[(1-z)^{-\lambda-1}+\sum_{j=1}^{M-1}\left|\binom{-\lambda-1}{k}\right| z^{j}\right]
\end{aligned}
$$

From this it follows that

$$
(1-z)^{\lambda} F(z) \rightarrow 1
$$

as $z \rightarrow 1$.
We now mention our main results in the following theorem.
Theorem 2. Let $f(k)=c_{k} r^{-k} k^{-\beta}$, where $c_{k}>0$ and $c_{k} \rightarrow c>0$ as $k \rightarrow \infty$. Then a necessary and sufficient condition for the occurrence of a gelation in the process is that the number $\beta$ satisfies

$$
\begin{equation*}
2<\beta<3 \tag{16}
\end{equation*}
$$

Moreover, the critical value $\lambda_{c}$ of gelation satisfies $\lambda_{c}=r F^{\prime}(r)$ and

$$
S(\lambda)=\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right)=1
$$

for $\lambda \leqslant \lambda_{c}$ and

$$
\begin{equation*}
S(\lambda)=\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right)=\frac{\lambda_{c}}{\lambda}+\left[1-\frac{\lambda_{c}}{\lambda}\right](3-\beta) \Gamma(3-\beta)<1 \tag{17}
\end{equation*}
$$

for $\lambda>\lambda_{c}$.
Proof. Sufficiency. Since $r F^{\prime}(r)=\sum_{k=1}^{\infty} c_{k} k k^{-\beta}<\infty$ for $2<\beta<3$, for any $\lambda<r F^{\prime}(r)$ we can choose a number $r_{0}$ such that $r_{0} F^{\prime}\left(r_{0}\right)=\lambda$. By the same method used for proving theorem 1 we can prove that $\frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right) \rightarrow 1$ for $2<\beta \leqslant 3$ and $\lambda<r F^{\prime}(r)$ as $N \rightarrow \infty$. Let $\lambda \geqslant r F^{\prime}(r)$. It follows from lemma 1 that

$$
F^{\prime \prime}(x) \sim \frac{r^{-(\beta-1)} c}{(3-\beta)}(r-x)^{-(3-\beta)} \quad(x \rightarrow r)
$$

since $\sum_{k=1}^{j} c_{k} k^{2-\beta} \sim c j^{3-\beta} /(3-\beta)$ as $j \rightarrow \infty$. Let

$$
B(x)=\frac{F(x)-F(r)-F^{\prime}(r)(x-r)}{F^{\prime \prime}(x)(r-x)^{2} / 2}
$$

It can be checked that, as $x \rightarrow r$,

$$
B(x) \rightarrow \frac{2}{(\beta-1)(\beta-2)}
$$

Hence

$$
\begin{aligned}
F\left(r \mathrm{e}^{\mathrm{i} \theta}\right)-F(r) & =F^{\prime}(r)\left(r \mathrm{e}^{\mathrm{i} \theta}-r\right)+\frac{1}{2} B\left(r \mathrm{e}^{\mathrm{i} \theta}\right) F^{\prime \prime}\left(r \mathrm{e}^{\mathrm{i} \theta}\right)\left(r-r \mathrm{e}^{\mathrm{i} \theta}\right)^{2} \\
& =\mathrm{i} r F^{\prime}(r) \theta+\frac{c}{(\beta-1)(\beta-2)(3-\beta)}(-\mathrm{i} \theta)^{\beta-1}+o\left((\theta)^{\beta-1}\right)
\end{aligned}
$$

Let $\alpha=\beta-1, b=1-r F^{\prime}(r) / \lambda$ and

$$
\gamma=\frac{c}{(\beta-1)(\beta-2)(3-\beta)}
$$

Since $\mathrm{e}^{ \pm \mathrm{i} \pi}=-1$ and $\mathrm{e}^{-\mathrm{i} \pi / 2}=-\mathrm{i}$, we have
$F\left(r \mathrm{e}^{\mathrm{i} \theta}\right)-F(r)=\mathrm{i} r F^{\prime}(r) \theta-\gamma|\theta|^{\alpha} \exp \left\{-\mathrm{i} \frac{(\alpha-2) \pi}{2} \operatorname{sign}(\theta)\right\}+o\left(|\theta|^{\alpha}\right)$
where $\operatorname{sign}(\theta)=1$ for $\theta>0, \operatorname{sign}(\theta)=-1$ for $\theta<0$ and $\operatorname{sign}(\theta)=0$ for $\theta=0$. It follows from (7) and (18) that

$$
\begin{aligned}
\pi_{N}\left(\frac{N}{\lambda}\right)= & \frac{1}{2 \pi \mathrm{i}} \int_{\Gamma} \exp \left\{\frac{N}{\lambda} F(x)-N \log x\right\} x^{-1} \mathrm{~d} x \\
= & \frac{D_{N}(r)}{2 \pi} \int_{-\pi}^{\pi} \exp \left\{-\mathrm{i} b N \theta-\frac{\gamma}{\lambda} N|\theta|^{\alpha} \exp \left\{-\mathrm{i} \frac{(\alpha-2) \pi}{2} \operatorname{sign}(\theta)\right\}+o\left(N|\theta|^{\alpha}\right)\right\} \mathrm{d} \theta \\
= & \frac{D_{N}(r)}{2 \pi(\gamma N / \lambda)^{1 / \alpha}} \int_{-\pi(\gamma N / \lambda)^{1 / \alpha}}^{\pi(\gamma N / \lambda)^{1 / \alpha}} \exp \left\{-\mathrm{i} b \frac{N^{(\alpha-1) / \alpha}}{(\gamma / \lambda)^{1 / \alpha}} t\right. \\
& \left.-|t|^{\alpha} \exp \left\{-\mathrm{i} \frac{(\alpha-2) \pi}{2} \operatorname{sign}(t)\right\}+o(|t|)\right\} \mathrm{d} t
\end{aligned}
$$

Comparing this with the stable density $q(x ; \alpha, \delta)$, where $\delta=\alpha-2$ (see [38], p 131), we have

$$
\pi_{N}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{D_{N}(r)}{(\gamma N / \lambda)^{1 / \alpha}} q(0 ; \alpha, \alpha-2)
$$

for $\lambda=r F^{\prime}(r)$, i.e. $b=0$, and

$$
\pi_{N}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{\gamma D_{N}(r)}{\lambda N^{\alpha}} b^{-(\alpha+1)} q(0 ; 1 / \alpha,(2 \alpha-3) / \alpha)
$$

for $\lambda>r F^{\prime}(r)$, since $q(x ; \alpha, \delta)=x^{-1-\alpha} q\left(x^{-\alpha} ; 1 / \alpha, 1+(\delta-1) / \alpha\right)$. Let $l_{N}=b N-$ $N^{1 / \alpha} \log N, L_{N}=b N+N^{1 / \alpha} \log N$ and

$$
x_{k, N}=\left[b-\frac{k}{N}\right] \frac{N^{(\alpha-1) / \alpha}}{(\gamma / \lambda)^{1 / \alpha}} .
$$

Similarly, we have

$$
\pi_{N-k}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{D_{N}(r) r^{k}}{(\gamma N / \lambda)^{1 / \alpha}} q\left(-k(\gamma N / \lambda)^{-1 / \alpha} ; \alpha, \alpha-2\right)
$$

for $\lambda=r F^{\prime}(r)$,

$$
\pi_{N-k}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{\gamma D_{N}(r) r^{k}}{\lambda N^{\alpha}}\left[b-\frac{k}{N}\right]^{-(\alpha+1)} q(0 ; 1 / \alpha,(2 \alpha-3) / \alpha)
$$

for $\lambda>r F^{\prime}(r)$ and $k<l_{N}$,

$$
\pi_{N-k}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{D_{N}(r) r^{k}}{(\gamma N / \lambda)^{1 / \alpha}} q\left(x_{k, N} ; \alpha, \alpha-2\right)
$$

for $\lambda>r F^{\prime}(r)$ and $l_{N} \leqslant k \leqslant L_{N}$, and

$$
\pi_{N-k}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{\gamma D_{N}(r) r^{k}}{\lambda N^{\alpha}}\left[\frac{k}{N}-b\right]^{-(\alpha+1)} q(0 ; 1 / \alpha,-(2 \alpha-3) / \alpha)
$$

for $\lambda>r F^{\prime}(r)$ and $L_{N}<k \leqslant N$. Note that $q(x ; \alpha, \delta)=q(-x ; \alpha,-\delta)$,

$$
\begin{align*}
& q(0 ; \alpha, \alpha-2)=\pi^{-1} \Gamma(1+1 / \alpha) \cos \left[\frac{(\alpha-2) \pi}{2 \alpha}\right]>0 \\
& \begin{aligned}
q(0 ; 1 / \alpha, \pm(2 \alpha-3) / \alpha) & =\pi^{-1} \Gamma(1+\alpha) \cos \left[\frac{(2 \alpha-3) \pi}{2}\right] \\
& =\pi^{-1} \Gamma(1+\alpha) \sin [(\alpha-1) \pi]>0
\end{aligned}
\end{align*}
$$

and for any $x$, there exists a constant $M>0$ (only depending on $\alpha$ ) such that

$$
q(x ; \alpha, \alpha-2) \leqslant M
$$

Thus, for $\lambda=r F^{\prime}(r)$,

$$
\begin{aligned}
\frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right) & =\sum_{k=1}^{N} \frac{k f(k)}{\lambda} \frac{\pi_{N-k}\left(\frac{N}{\lambda}\right)}{\pi_{N}\left(\frac{N}{\lambda}\right)} \\
& =(1+o(1)) \frac{1}{\lambda} \sum_{k=1}^{N} k f(k) r^{k} \frac{q\left(-k(\gamma N / \lambda)^{-1 / \alpha} ; \alpha, \alpha-2\right)}{q(0 ; \alpha, \alpha-2)} \rightarrow 1
\end{aligned}
$$

as $N \rightarrow \infty$. For $\lambda>r F^{\prime}(r)$ we have

$$
\begin{aligned}
\frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right) & =(1+o(1)) \frac{b^{\alpha+1}}{\lambda} \sum_{k=1}^{N / \log N} k f(k) r^{k} \frac{1}{\left[b-\frac{k}{N}\right]^{\alpha+1}} \\
& +(1+o(1)) \frac{b^{\alpha+1}}{\lambda} \sum_{k>N / \log N}^{l_{N}-1} k f(k) r^{k} \frac{1}{\left[b-\frac{k}{N}\right]^{\alpha+1}} \\
& +(1+o(1)) \frac{b^{\alpha+1} N^{\alpha-\frac{1}{\alpha}}}{\lambda(\gamma / \lambda)^{\frac{\alpha+1}{\alpha}}} \sum_{k=l_{N}}^{L_{N}} k f(k) r^{k} \frac{q\left(x_{k, N} ; \alpha, \alpha-2\right)}{q(0 ; 1 / \alpha,(2 \alpha-3) / \alpha)} \\
& \times(1+o(1)) \frac{b^{\alpha+1}}{\lambda} \sum_{k>L_{N}}^{N} k f(k) r^{k} \frac{1}{\left[\frac{k}{N}-b\right]^{\alpha+1}} \\
\rightarrow & \frac{r F^{\prime}(r)}{\lambda}+\left[1-\frac{r F^{\prime}(r)}{\lambda}\right](3-\beta) \Gamma(3-\beta)
\end{aligned}
$$

Obviously,

$$
\frac{1}{\lambda} \sum_{k=1}^{N / \log N} k f(k) r^{k} \frac{b^{\alpha+1}}{\left[b-\frac{k}{N}\right]^{\alpha+1}} \rightarrow \frac{r F^{\prime}(r)}{\lambda}
$$

as $N \rightarrow \infty$. Furthermore,

$$
\begin{array}{r}
\sum_{k>N / \log N}^{l_{N}-1} k f(k) r^{k} \frac{1}{\left[b-\frac{k}{N}\right]^{\alpha+1}}=\sum_{k>N / \log N}^{l_{N}-1} \frac{c_{k}}{k^{\alpha}\left[b-\frac{k}{N}\right]^{\alpha+1}} \\
=(1+o(1)) c N^{-(\alpha-1)} \int_{1 / \log N}^{b-N^{-(1-1 / \alpha)} \log N} \frac{\mathrm{~d} x}{x^{\alpha}(b-x)^{\alpha+1}}
\end{array}
$$

$$
\begin{aligned}
= & (1+o(1)) c N^{-(\alpha-1)} \int_{1 / \log N}^{b / 2} \frac{\mathrm{~d} x}{x^{\alpha}(b-x)^{\alpha+1}} \\
& +(1+o(1)) c N^{-(\alpha-1)} \int_{b / 2}^{b-N^{-(1-1 / \alpha)} \log N} \frac{\mathrm{~d} x}{x^{\alpha}(b-x)^{\alpha+1}} \\
\rightarrow & 0
\end{aligned}
$$

and
$\sum_{k>L_{N}}^{N} k f(k) r^{k} \frac{1}{\left[\frac{k}{N}-b\right]^{\alpha+1}}=(1+o(1)) c N^{-(\alpha-1)} \int_{b+N^{-(1-1 / \alpha)} \log N}^{1} \frac{\mathrm{~d} x}{x^{\alpha}(x-b)^{\alpha+1}} \rightarrow 0$
as $N \rightarrow \infty$. Since $\Gamma(s+1)=s \Gamma(s), \Gamma(s) \Gamma(1-s)=\pi / \sin (s \pi)$ for $0<s<1$ and

$$
\begin{aligned}
& \frac{b^{\alpha+1} N^{\alpha-\frac{1}{\alpha}}}{\lambda(\gamma / \lambda)^{\frac{\alpha+1}{\alpha}}} \sum_{k=l_{N}}^{L_{N}} k f(k) r^{k} q\left(x_{k, N} ; \alpha, \alpha-2\right) \\
&=(1+o(1)) \frac{c b^{\alpha+1} N^{1-\frac{1}{\alpha}}}{\lambda(\gamma / \lambda)^{\frac{\alpha+1}{\alpha}}} \int_{b-N^{-(1-1 / \alpha)} \log N}^{b+N^{-(1-1 / \alpha)} \log N} \frac{q\left(x_{k, N} ; \alpha, \alpha-2\right)}{x^{\alpha}} \mathrm{d} x \\
&=(1+o(1)) \frac{c b N^{1-\frac{1}{\alpha}}}{\lambda(\gamma / \lambda)^{\frac{\alpha+1}{\alpha}}} \int_{b-N^{-(1-1 / \alpha)} \log N}^{b} q\left(x_{k, N} ; \alpha, \alpha-2\right) \mathrm{d} x \\
&+(1+o(1)) \frac{c b N^{1-\frac{1}{\alpha}}}{\lambda(\gamma / \lambda)^{\frac{\alpha+1}{\alpha}}} \int_{b}^{b+N^{-(1-1 / \alpha)} \log N} q\left(x_{k, N} ; \alpha, \alpha-2\right) \mathrm{d} x \\
&=(1+o(1)) \frac{c b}{\gamma} \int_{-\log N}^{\log N} q\left(x_{k, N} ; \alpha, \alpha-2\right) \mathrm{d}\left(x_{k, N}\right) \\
& \rightarrow b(\beta-1)(\beta-2)(3-\beta)
\end{aligned}
$$

as $N \rightarrow \infty$, it follows from (19) that

$$
\frac{b^{\alpha+1} N^{\alpha-\frac{1}{\alpha}}}{\lambda(\gamma / \lambda)^{\frac{\alpha+1}{\alpha}}} \sum_{k=l_{N}}^{L_{N}} k f(k) r^{k} \frac{q\left(x_{k, N} ; \alpha, \alpha-2\right)}{q(0 ; 1 / \alpha,(2 \alpha-3) / \alpha)} \rightarrow b(3-\beta) \Gamma(3-\beta) .
$$

Thus,

$$
\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right)=\frac{r F^{\prime}(r)}{\lambda}+\left[1-\frac{r F^{\prime}(r)}{\lambda}\right](3-\beta) \Gamma(3-\beta)<1
$$

for $\lambda>r F^{\prime}(r)$, since $(3-\beta) \Gamma(3-\beta)<1$ for $2<\beta<3$. This also shows that $\lambda_{c}=r F^{\prime}(r)$.
Necessary. Assume that there exists a gelation in the process. Since $r F^{\prime}(r)=$ $\sum_{k=1}^{\infty} c_{k} k k^{-\beta}$, it follows from theorem 1 that $2<\beta \leqslant 3$. Let $\beta=3$ and $\lambda>\lambda_{c}$. Note that $\lambda_{c} \geqslant r F^{\prime}(r)$ and $\sum_{k=1}^{j} c_{k} \sim c j$ as $j \rightarrow \infty$. By lemma 1 we know that $F^{\prime \prime \prime}(x) \sim c r^{-2}(r-x)^{-1}$ $(x \rightarrow r)$, and therefore $F^{\prime \prime}(x) \sim-c r^{-2} \log (r-x)(x \nearrow r)$. Moreover, taking $x=r \mathrm{e}^{\mathrm{i} \theta}$ we have $F^{\prime \prime}\left(r \mathrm{e}^{\mathrm{i} \theta}\right) \sim 2 c r^{-2}|\log | \theta / \sqrt{2} \|(\theta \rightarrow 0)$. Let

$$
B(x)=\frac{F(x)-F(r)-F^{\prime}(r)(x-r)}{F^{\prime \prime}(x)(x-r)^{2} / 2}
$$

It can be checked that $B\left(r \mathrm{e}^{\mathrm{i} \theta}\right) \sim\left(1+O(|\log | \theta \|)^{-1}\right)(\theta \rightarrow 0)$. Hence

$$
\begin{aligned}
F\left(r \mathrm{e}^{\mathrm{i} \theta}\right)-F(r) & =F^{\prime}(r)\left(r \mathrm{e}^{\mathrm{i} \theta}-r\right)+\frac{1}{2} B\left(r \mathrm{e}^{\mathrm{i} \theta}\right) F^{\prime \prime}\left(r \mathrm{e}^{\mathrm{i} \theta}\right)\left(r \mathrm{e}^{\mathrm{i} \theta}-r\right)^{2} \\
& =\mathrm{i} r F^{\prime}(r) \theta-c|\log | \theta \| \theta^{2}+O\left(\theta^{2}\right) .
\end{aligned}
$$

It follows from (7) and (15) that

$$
\begin{aligned}
\pi_{N}\left(\frac{N}{\lambda}\right)= & \frac{1}{2 \pi \mathrm{i}} \int_{\Gamma} \exp \left\{\frac{N}{\lambda} F(x)-N \log x\right\} x^{-1} \mathrm{~d} x \\
= & \frac{D_{N}(r)}{2 \pi} \int_{-\pi}^{\pi} \exp \left\{-\mathrm{i} b N \theta-\frac{c|\log | \theta \|}{\lambda} N \theta^{2}+O\left(\theta^{2}\right)\right\} \mathrm{d} \theta \\
= & \frac{D_{N}(r)}{2 \pi \sqrt{N \log \sqrt{N}}} \int_{-\pi \sqrt{N \log \pi}}^{\pi \sqrt{N \log \pi}} \exp \left\{-\mathrm{i} b \frac{\sqrt{N}}{\sqrt{\log \sqrt{N}}} t\right. \\
& \left.-\frac{c}{\lambda} t^{2}+O\left(\frac{\log |t|}{\log \sqrt{N}}+\frac{t^{2}}{N}\right)\right\}\left(1+O\left(\frac{\log |t|}{\log \sqrt{N}}\right)\right) \mathrm{d} t \\
= & (1+o(1)) \frac{\sqrt{\lambda} D_{N}(r)}{2 \sqrt{\pi c}} \exp \left\{-\frac{\frac{N}{\log \sqrt{N}} b^{2}}{4 c / \lambda}\right\}
\end{aligned}
$$

Similarly,

$$
\pi_{N-k}\left(\frac{N}{\lambda}\right)=(1+o(1)) \frac{\sqrt{\lambda} D_{N}(r)}{2 \sqrt{\pi c}} r^{k} \exp \left\{-\frac{\frac{N}{\log \sqrt{N}}\left[b-\frac{k}{N}\right]^{2}}{4 c / \lambda}\right\}
$$

Hence, for $\lambda>\lambda_{c} \geqslant r F^{\prime}(r)$,

$$
\begin{aligned}
1 \geqslant \frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right) & =\sum_{k=1}^{N} \frac{k f(k)}{\lambda} \frac{\pi_{N-k}\left(\frac{N}{\lambda}\right)}{\pi_{N}\left(\frac{N}{\lambda}\right)} \\
& =(1+o(1)) \frac{1}{\lambda} \sum_{k=1}^{N} k f(k) r^{k} \exp \left\{\frac{k\left(2 b-\frac{k}{N}\right)}{4(c / \lambda) \log \sqrt{N}}\right\} \\
& >\frac{c}{\lambda N}\left(\frac{5 b}{3}\right)^{-2} \int_{4 b / 3}^{5 b / 3} \exp \left\{\frac{N x(2 b-x)}{4(c / \lambda) \log \sqrt{N}}\right\} \mathrm{d} x \\
& =\frac{c \exp \left\{\frac{N b^{2}}{4(c / \lambda) \log \sqrt{N}}\right\}}{\lambda N} \int_{4 b / 3}^{5 b / 3} \exp \left\{-\frac{N(x-b)^{2}}{4(c / \lambda) \log \sqrt{N}}\right\} \mathrm{d} x \\
& >\frac{c \exp \left\{\frac{5 N b^{2}}{36(c / \lambda) \log \sqrt{N}}\right\}}{\lambda N} \rightarrow+\infty
\end{aligned}
$$

as $N \rightarrow \infty$. The contradiction means that $\beta \neq 3$, i.e. $\beta<3$. If $\lambda_{c}>r F^{\prime}(r)$, then we can choose $\lambda_{1}$ such that $\lambda_{c}>\lambda_{1}>r F^{\prime}(r)$. By (17) we know

$$
\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right)=\frac{\lambda_{c}}{\lambda_{1}}+\left[1-\frac{\lambda_{c}}{\lambda_{1}}\right](3-\beta) \Gamma(3-\beta)<1 .
$$

This contradict the definition of critical value of gelation. That is, we have $\lambda_{c}=r F^{\prime}(r)$.
Remark 1. For $\lambda>\lambda_{c}$, we have

$$
\begin{aligned}
G(\lambda) & =1-S(\lambda)=1-\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{k=1}^{N} k E\left(N_{k}\right) \\
& =\left[1-\frac{r F^{\prime}(r)}{\lambda}\right][1-(3-\beta) \Gamma(3-\beta)] .
\end{aligned}
$$

Moreover, the function $S(\lambda)$ is continuous on $[0, \infty)$ and $M^{\prime}(\lambda)$ is discontinuous at $\lambda=\lambda_{c}$. In particular, $G(\infty)=\lim _{\lambda \rightarrow \infty} G(\lambda)=1-(3-\beta) \Gamma(3-\beta)$, which is the maximum mass of the gel and only depends on $\beta$.

Remark 2. With no rigorous argument we can see from (17) that there is no gelation when $\beta=2$ or $\beta=3$ since $\Gamma(1)=1$ and $\lim _{\beta \rightarrow 3}(3-\beta) \Gamma(3-\beta)=1$.

## 4. Applications

In this section we show two examples and a proposition.
Example 1. $\mathrm{RA}_{a}$ model $(a \geqslant 3)$.
The numbers $f(k)$ for the $\mathrm{RA}_{a}$ model have already been calculated by Stockmayer:

$$
f(k)=\frac{a^{k}[(a-1) k]!}{k![(a-2) k+2]!}
$$

Since the coagulation coefficients

$$
R(i, j)=[(a-2) i+2][(a-2) j+2]
$$

the fragmentation coefficients $F(i, j)$ can be taken as in Van Dongen and Ernst [41]:

$$
\sum_{i+j=k} F(i, j)=\frac{2}{\lambda}(k-1)
$$

Hence

$$
2(k-1) f(k)=\sum_{i+j=k} R(i, j) f(i) f(j)
$$

We can calculate (see [17]) that $\beta=5 / 2, c_{k} \rightarrow \sqrt{(a-1) /\left[2 \pi(a-2)^{5}\right]}$,

$$
r=\lim _{k \rightarrow \infty} \frac{f(k)}{f(k+1)}=\frac{(a-2)^{(a-2)}}{a(a-1)^{(a-1)}}
$$

and $\lambda_{c}=r F^{\prime}(r)=(a-1) /\left[a(a-2)^{2}\right]$. Thus the mass of gelation for $\lambda>\lambda_{c}$ is

$$
G(\lambda)=\left[1-\frac{(a-1)}{\lambda a(a-2)^{2}}\right]\left[1-\frac{\sqrt{\pi}}{2}\right]
$$

and the maximum mass of gelation is $G(\infty)=1-\frac{\sqrt{\pi}}{2}$.
Example 2. RA $_{\infty}$ model.
For the $\mathrm{RA}_{\infty}$ model we have $f(k)=k^{k-2} / k$ ! and $R_{i j}=i j$. It can be checked (see [17]) that $\beta=5 / 2, r=e^{-1}, c_{k} \rightarrow 1 / \sqrt{2 \pi}$ and $\lambda_{c}=r F^{\prime}(r)=1$. Thus

$$
G(\lambda)=\left[1-\frac{1}{\lambda}\right]\left[1-\frac{\sqrt{\pi}}{2}\right]
$$

for $\lambda>\lambda_{c}$ and $G(\infty)=1-\frac{\sqrt{\pi}}{2}$.
To model surface interactions, the coagulation and fragmentation coefficients can be taken as

$$
R(i, j)=i^{\sigma} j^{\sigma}
$$

and

$$
\begin{equation*}
\sum_{i+j=k} F(i, j)=\frac{2}{\lambda}(k-1)^{\sigma} \tag{20}
\end{equation*}
$$

where $\sigma \geqslant 0$. Note that $k^{\sigma}-1$ proposed by van Dongen and Ernst [41] has been replaced by $(k-1)^{\sigma}$. When $\sigma=1$, the model has been well studied by van Dongen and Ernst [41].

Assume that the positive numbers $f(k)$ satisfy (4), and therefore

$$
\begin{equation*}
2(k-1)^{\sigma} f(k)=\sum_{i+j=k} i^{\sigma} j^{\sigma} f(i) f(j) \tag{21}
\end{equation*}
$$

We now present a proposition in the following.
Proposition 1. If the numbers $f(k)$ satisfy (21) and their convergence radius $r$ is positive, then a necessary and sufficient condition for the occurrence of a gelation is

$$
\begin{equation*}
\frac{1}{2}<\sigma<\frac{3}{2} \tag{22}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{k=1}^{\infty} k^{1+\sigma} f(k) r^{k}=\infty \tag{23}
\end{equation*}
$$

Moreover, the critical value of the gelation satisfies $\lambda_{c}=r F^{\prime}(r)$ and

$$
\begin{equation*}
G(\lambda)=\left[1-\frac{\lambda_{c}}{\lambda}\right]\left[1-\left(\frac{3}{2}-\sigma\right) \Gamma\left(\frac{3}{2}-\sigma\right)\right] \tag{24}
\end{equation*}
$$

for $\lambda>\lambda_{c}$ and $\frac{1}{2}<\sigma<\frac{3}{2}$.
Proof. Let $f_{\sigma}(k)=k^{\sigma-1} f(k), F_{\sigma}(x)=\sum_{k=1}^{\infty} f_{\sigma}(k) x^{k}, U(x)=x F_{\sigma}^{\prime}(x)$ and $V(x)=$ $\sum_{k=1}^{\infty}\left[1-(1-1 / k)^{\sigma}\right] k f_{\sigma}(k) x^{k}$. It follows from (21) that

$$
2 U(x)-2 V(x)=[U(x)]^{2}
$$

for $0 \leqslant x<r$, and therefore

$$
U(x)=1 \pm \sqrt{1-2 V(x)}
$$

Obviously, $V(r)=\lim _{x \rightarrow r} V(x) \leqslant 1 / 2$ and $U(r)=\lim _{x \rightarrow r} U(x)<\infty$. Furthermore, we have $U^{(n)}(r)<\infty$ if and only if $V^{(n+1)}(r)<\infty$, and in particular

$$
\begin{equation*}
0<\lim _{x \rightarrow r} \frac{V^{\prime \prime}(x)}{U^{\prime}(x)}=\frac{V^{\prime \prime}(r)}{U^{\prime}(r)}<\infty \tag{25}
\end{equation*}
$$

since $\left[1-(1-1 / k)^{\sigma}\right]=\sigma / k+o(1 / k)$. Note that $U^{\prime}(x)>0$ and $V^{\prime}(x)>0$ for $0 \leqslant x<r$. It follows that

$$
\begin{equation*}
U^{\prime}(x)=\frac{V^{\prime}(x)}{\sqrt{1-2 V(x)}} \tag{26}
\end{equation*}
$$

for $0 \leqslant x<r$.
Let the process have a gelation. We prove that $U^{\prime}(r)=\lim _{x \rightarrow r} U^{\prime}(x)=\infty$, that is, (23) holds. If $U^{\prime}(r)<\infty$, then $1-2 V(r)>0, V^{\prime \prime}(r)<\infty$. From (26) it follows that

$$
\begin{equation*}
U^{\prime \prime}(r)=\frac{V^{\prime \prime}(r)(1-2 V(r))+\left(V^{\prime}(r)\right)^{2}}{(1-2 V(r)) \sqrt{1-2 V(r)}}<\infty \tag{27}
\end{equation*}
$$

From $U^{\prime \prime}(r)$ we know $V^{(3)}(r)<\infty$. Repeating the calculation for $U^{(n)}(r)$ we can obtain $U^{(n)}(r)<\infty$ for every $n \geqslant 0$. Hence $F^{\prime \prime}(r)<\infty$. This contradicts the results of theorem 1. Obviously, $U^{\prime}(r)=\infty$ means that $1-2 V(r)=0$ and $\sum_{k=1}^{\infty} k^{1+\sigma} f(k) r^{k}=\infty$.

Since $V^{\prime}(r)<\infty$ and $1-2 V(r)=0$, by (25), (26) and (27) we have $U^{\prime}(r) \sqrt{1-2 V(r)}<$ $\infty, U^{\prime}(r)(1-2 V(r))=0$ and

$$
\frac{U^{\prime \prime}(r)}{\left[U^{\prime}(r)\right]^{3}}=\lim _{x \rightarrow r} \frac{U^{\prime \prime}(x)}{\left[U^{\prime}(x)\right]^{3}}=1 .
$$

Let $W(x)=x F_{\sigma}^{\prime}(x)-F_{\sigma}(x)$. Then the function $y=W(x)$ is monotone increasing and analytic on $[0, r)$, and $W^{\prime}(x)=x F_{\sigma}^{\prime \prime}(x)$. Furthermore, its inverse function $x=w(y), 0 \leqslant y<\bar{y}$, is also monotone increasing, analytic and left continuous at $y=\bar{y}$, where $\bar{y}=W(r)$. By Cauchy's integral formula we have

$$
\begin{aligned}
k(k-1) f_{\sigma}(k) & =(2 \pi \mathrm{i})^{-1} \int_{\circlearrowleft} x F_{\sigma}^{\prime \prime}(x) x^{-k} \mathrm{~d} x \\
& =(2 \pi \mathrm{i})^{-1} \int_{\Theta^{\prime}} \exp \{-k \log w(y)\} \mathrm{d} y
\end{aligned}
$$

where © and © ${ }^{\prime}$ are two contours with their radii being respectively less than $r$ and equal to $\bar{y}$ surrounding the origin 0 . Since

$$
w^{\prime}(\bar{y})=\frac{1}{W^{\prime}(r)}=\frac{1}{U^{\prime}(r)-U(r) / r}=0
$$

and

$$
w^{\prime \prime}(\bar{y})=-\frac{W^{\prime \prime}(r)}{\left[W^{\prime}(r)\right]^{3}}=-\frac{U^{\prime \prime}(r)-U^{\prime}(r) / r+U(r) / r^{2}}{\left[U^{\prime}(r)-U(r) / r\right]^{3}}=-1
$$

$\log w(y)$ can be expanded in a Taylor series near $y=\bar{y}$ as follows:

$$
\log w(y)=\log r-\frac{1}{2 r}(y-\bar{y})^{2}+o\left((y-\bar{y})^{2}\right) .
$$

Thus

$$
\begin{aligned}
k(k-1) f_{\sigma}(k) & =\frac{\bar{y}}{2 \pi} \int_{-\pi}^{\pi} \exp \left\{\mathrm{i} \theta-k \log w\left(\bar{y} \mathrm{e}^{\mathrm{i} \theta}\right)\right\} \mathrm{d} \theta \\
& =\frac{\bar{y} r^{-k}}{2 \pi} \int_{-\pi}^{\pi} \exp \left\{\mathrm{i} \theta-k \frac{\bar{y}^{2}}{2 r} \theta^{2}+O\left(k \theta^{3}\right)\right\} \mathrm{d} \theta \\
& =\frac{\bar{y} r^{-k}}{2 \pi \sqrt{k}} \int_{-\pi \sqrt{k}}^{\pi \sqrt{k}} \exp \left\{\mathrm{i} t / \sqrt{k}-\frac{\bar{y}^{2}}{2 r} t^{2}+O\left(t^{3} / \sqrt{k}\right)\right\} \mathrm{d} \theta \\
& =(1+o(1))\left(\frac{r}{2 \pi}\right)^{1 / 2} r^{-k} k^{-1 / 2}
\end{aligned}
$$

and therefore

$$
\begin{equation*}
f(k)=k^{1-\sigma} f_{\sigma}(k)=c_{k} r^{-k} k^{-(1+\sigma+1 / 2)} \tag{28}
\end{equation*}
$$

where $c_{k}=(1+o(1)) k /(k-1)(r / 2 \pi)^{1 / 2}$ for $k \geqslant 2$. By theorem 2 we have $2<1+\sigma+1 / 2<$ 3, i.e. $1 / 2<\sigma<3 / 2$.

If (22) and (23) hold, then (28) can be obtained by the same approach. By theorem 2 we see that the process has a gelation, $\lambda_{c}=r F^{\prime}(r)$ and (24) holds.

It is known that the expected values $(1 / V) E\left[N_{j}(t)\right]$ coincide in the thermodynamic limit $N \rightarrow \infty, V \rightarrow \infty$ and $N / V=\rho$ with the densities $c_{j}(t)$ of Smoluchlovski's model. If we have $(1 / V) E\left[N_{j}(t)\right] \sim$ const $\times k^{-\tau}(V>k \rightarrow \infty)$ at the critical value of the gelation, then the exponent $\tau$ characterizes the size distribution at the gel point. Thus it is interesting to study the asymptotic behaviour of $(1 / V) E\left[N_{j}(t)\right]$. The asymptotic estimates for $(1 / N) E\left[N_{j}(t)\right]$ with $\rho=1$ will be given in the following proposition.

Proposition 2. Suppose that $1 / 2<\sigma<3 / 2$, the numbers $f(k)$ satisfy (21), the convergence radius $r>0$ and $\sum_{k=1}^{\infty} k^{1+\sigma} f(k) r^{k}=\infty$. Then $\lambda_{c}=r F^{\prime}(r)$ is the critical value of the gelation and
(i) For $\lambda<\lambda_{c}$,

$$
\frac{1}{N} E\left(N_{k}\right) \sim \text { const } \times k^{-(1+1 / 2+\sigma)} \exp \{- \text { const } \times k\} \quad(N>k \rightarrow \infty)
$$

(ii) For $\lambda=\lambda_{c}$,

$$
\frac{1}{N} E\left(N_{k}\right) \sim \text { const } \times k^{-(1+1 / 2+\sigma)} \quad(N>k \rightarrow \infty)
$$

(iii) For $\lambda>\lambda_{c}$ and $k<l_{N}=b N-N^{1 /(\sigma+1 / 2)} \log N$ or $k>L_{N}=b N+N^{1 /(\sigma+1 / 2)} \log N$,

$$
\frac{1}{N} E\left(N_{k}\right) \sim \text { const } \times k^{-(1+1 / 2+\sigma)} \quad(N>k \rightarrow \infty)
$$

where $b=1-\lambda / \lambda_{c}$.
(iv) For $\lambda>\lambda_{c}$ and $M_{N}(-C) \leqslant k \leqslant M_{N}(C)$,

$$
\frac{1}{N} E\left(N_{k}\right) \sim \text { const } \times k^{-\frac{1+1 / 2+\sigma}{1 / 2+\sigma}} \quad(N>k \rightarrow \infty)
$$

where $M_{N}(C)=b N+C N^{1 /(\sigma+1 / 2)}$ and $C$ is an arbitrary positive constant.
Proof. From proposition 1 we know that $\lambda_{c}=r F^{\prime}(r)$ is the critical value of the gelation and $f(k)=c_{k} r^{-k} k^{-(1+\sigma+1 / 2)}$. Since $\pi_{N}\left(\frac{N}{\lambda}\right)$ and $\pi_{N-k}\left(\frac{N}{\lambda}\right)$ have been estimated in theorems 1 and 2 for $\lambda<\lambda_{c}, \lambda=\lambda_{c}$ or $\lambda>\lambda_{c}$, by (14), i.e.

$$
E\left(N_{k}\right)=\frac{N f(k)}{\lambda} \frac{\pi_{N-k}\left(\frac{N}{\lambda}\right)}{\pi_{N}\left(\frac{N}{\lambda}\right)}
$$

we can obtain proposition 2.
Remark 3. Without the fragmentation effects, i.e. $F(k, l)=0$, the critical value of gelation is the critical time, $t_{c}$. The concentration of $k$-mers, $c_{k}\left(t_{c}\right)$, at the gel point, has been given by Ziff [48] as follows:

$$
c_{k}\left(t_{c}\right) \sim \text { const } \times k^{-\tau}
$$

asymptotically as $k \rightarrow \infty$, where $5 / 2-1 / d<\tau<5 / 2$ and $d$ denotes the dimensions. Obviously, gelation cannot occur for $d=1$. Let $d \geqslant 2$, then $2<\tau<5 / 2$. This is different from the result (iv) in proposition 2

$$
\frac{1}{N} E\left(N_{k}\right) \sim \text { const } \times k^{-(1+1 / 2+\sigma)} \quad(N>k \rightarrow \infty)
$$

since $2<1+1 / 2+\sigma<3$. That is, $1+1 / 2+\sigma$ can be greater than 5/2.
Remark 4. It should be noted that, if $\lambda>\lambda_{c}, k$ and $j$ satisfy respectively $\left|(k-b N) N^{-1 /(\sigma+1 / 2)}\right|=O(1)$ and $\left|(j-b N) N^{-1 /(\sigma+1 / 2)}\right| \rightarrow \infty$ as $N \rightarrow \infty$, then

$$
\frac{1}{N} E\left(N_{k}\right) \sim \text { const } \times k^{-\frac{1+1 / 2+\sigma}{1 / 2+\sigma}}>\frac{1}{N} E\left(N_{j}\right) \sim \text { const } \times j^{-(1+1 / 2+\sigma)}
$$

since $(1+1 / 2+\sigma)>(1+1 / 2+\sigma) /(1 / 2+\sigma)$. That is, the concentration of $j$-mers is less than the concentration of $k$-mers for the above case.

## 5. Summary and discussion

As can be seen, the necessary and sufficient condition for gelation in this paper is mainly based on the assumption that $f(k)$ is of the form $c_{k} r^{-k} k^{-\beta}$ or $r^{k} f(k)=O\left(1 / k^{\beta}\right)$. It is known that many polymer models such as $R A_{a}, R A_{\infty}$ and $A_{a} R B_{b}$ are of this form. When $2<\beta<3, r^{k} f(k)=O\left(1 / k^{\alpha+1}\right)$ corresponds to Lévy stable densities $p_{\alpha}(x)$, where $\alpha=\beta-1$, since Lévy stable densities are asymptotically of the form $1 / x^{\alpha+1}$. If one extends the condition, for example, $\beta \geqslant 3$, then the definition of a gelation in (9) and (10) must be modified.

For the coagulation rate kernels $R(j, k)=j^{\sigma} k^{\sigma}$, there exists a gelation when $1 / 2<\sigma \leqslant 1$ and instantaneous gelation when $\sigma>1$ in irreversible polymer model (Jeon [24]). Comparing this with proposition 1 we see that the property of gelation in an irreversible polymer model is different from that in the reversible polymer model especially when $1<\sigma<1+1 / 2$.

From the results of this paper we can draw the conclusion that the reversible Markov process of polymerization is more complete than the deterministic counterpart (the kinetic model of reversible polymerization proposed by Van Dongen and Ernst [41]), in the sense that it allows the investigation of finite-size effects and fluctuations.

## Acknowledgments

I want to thank the referees for their valuable suggestions. This work is partly supported by National Science Foundation of China.

## References

[1] Aldous D J 1999 Deterministic and stochastic models for coalescence (aggregation and coagulation): a review of the mean-field theory for probabilists Bernoulli 5 3-48
[2] Aldous D J 1998 Emergence of the giant component in special Marcus-Lushnikov process Random Struct. Algorithms 12 179-96
[3] Bak T A and Heilmann O J 1994 Post-gelation solutions to Smoluchowski's coagulation equation J. Phys. A: Math. Gen. 27 4203-9
[4] Ball J M and Carr J 1990 The discrete coagulation-fragmentation equation: existence, uniqueness, and density conservation J. Stat. Phys. 61 203-34
[5] Ball J M, Carr J and Penrose O 1986 The Becker-Döring cluster equations: basic properties and asymptotic behavior of solutions Commun. Math. Phys. 104 657-92
[6] Bollobás B 1985 Random Graphs (London: Academic)
[7] Buffet E and Pule J V 1990 On the Lushnikov's model of gelation J. Stat. Phys. 58 1041-58
[8] Buffet E and Pule J V 1991 Polymers and random graphs J. Stat. Phys. 64 87-110
[9] Carr J and da Costa F P 1992 Instantaneous gelation in coagulation dynamics Z. Angew. Math. Phys. 43 974-83
[10] Dubovskii P B and Stewart I W 1996 Existence, uniqueness and mass conservation for the coagulationfragmentation equation Math. Methods Appl. Sci. 19 571-91
[11] Eibeck A and Wagner W 2000 Approximative solution of the coagulation-fragmentation equation by stochastic particle systems Stoch. Anal. Appl. 18 921-48
[12] Eibeck A and Wagner W 2001 Stochastic particle approximations for Smoluchowski's coagulation equation Ann. Appl. Probab. 11 1137-65
[13] Erdös P and Rényi A 1960 On the evolution of random graphs Magy. Tud. Akad. Mat. Kut. Intéz. Közl. 517-61
[14] Flory P J 1953 Principles of Polymer Chemistry (Ithaca, NY: Cornell University Press)
[15] Gueron S and Levin S A 1995 The dynamics of group formation Math. Biosci. 128 243-64
[16] Guias F 2001 Convergence properties of a stochastic model for coagulation-fragmentation processes with diffusion Stoch. Anal. Appl. 19 245-78
[17] Han D 1995 Subcritical asymptotic behavior in the thermodynamic limit of reversible random polymerization process J. Stat. Phys. 80 389-404
[18] Han D 2000 The near-critical and super-critical asymptotic behavior in the thermodynamic limit of reversible random polymerization processes Math. Acta Sci. B 20 380-9
[19] Heilmann O J 1992 Analytic solutions of Smoluchowski's coagulation equation J. Phys. A: Math. Gen. 25 3763-71
[20] Hendriks E M, Ernst M and Ziff R 1983 Coagulation equations with gelation J. Stat. Phys. 31 519-63
[21] Hendriks E M, Spouge J L, Eibl M and Schreckenberg M 1985 Exact solutions for random coagulation processes Z. Phys. B 58 219-28
[22] Janson S, Knuth D E, Luczak T and Pittel B 1993 The birth of giant component Random Struct. Algorithms 4 233-58
[23] Jeon I 1998 Existence of gelling solutions for coagulation fragmentation equations Commun. Math. Phys. 194 541-67
[24] Jeon I 1999 Spouge's conjecture on complete and instantaneous gelation J. Stat. Phys. 96 1049-70
[25] Leyvraz F 1983 Existence and properties of post-gel solutions for the kinetic equations of coagulation J. Phys. A: Math. Gen. 16 2861-73
[26] Leyvraz F and Tschudi H 1982 Critical kinetics near gelation J. Phys. A: Math. Gen. 15 1951-64
[27] Lushnikov A A 1978 Certain new aspects of the coagulation theory Izv. Atm. Ok. Fiz. 14 738-43
[28] Ibragimev I A and Linnik Yu V 1971 Independent and Stationary Sequences of Random Variables (Groningen: Wolters-Noordhoff)
[29] Marcus A H 1968 Stochastic coalescence Technometrics 10 133-43
[30] Norris J 1999 Smoluchowski's coagulation equation: uniqueness, non-uniqueness and a hydrodynamic limit for the stochastic coalescent Ann. Appl. Probab. 978-109
[31] Pittel B 1990 On tree census and the giant component in sparse random graphs Random Struct. Algorithms $\mathbf{1}$ 311-42
[32] Pittel B, Wovczynski W A and Mann J A 1990 Random tree-type partitions as a model for acyclic polymerization: Holtsmark ( $\frac{3}{2}$-stable) distribution of the supercritical gel Ann. Probab. 18 319-41
[33] Po’lya G and Szego G 1976 Problems and Theorems in Analysis vol 1 (Berlin: Springer)
[34] Smit D, Hounslow M and Paterson W 1994 Aggregation and gelation: I. Analytical solutions for CST and batch operation Chem. Eng. Sci. 49 1025-35
[35] Spouge J L 1983 Solutions and critical times for the monodisperse coagulation equation when $a(i, j)=$ $A+B(i+j)+C(i j) J$. Phys. A: Math. Gen. 16 767-73
[36] Spouge J L 1984 An existence theorem for the discrete coagulation-fragmentation equations Math. Proc. Camb. Phil. Soc. 96 351-7
[37] Stockmayer W H 1943 Theory of molecular size distribution and gel formation in branched chain polymers J. Chem. Phys. 11 45-55
[38] Uchaikin V V and Zolotarev V M 1999 Chance and Stability, Stable Distributions and Their Applications: Modern Probability and Statistics (Leiden: VSP Intl Science)
[39] Van Dongen P G J 1987 On the possible occurrence of instantaneous gelation in Smoluchowski's coagulation equation J. Phys. A: Math. Gen. 20 1889-904
[40] Van Dongen P G J and Ernst M H 1983 Pre-and postgel size distributions in (ir)reversible polymerization J. Phys. A: Math. Gen. 16 L327-32
[41] Van Dongen P G J and Ernst M H 1984 Kinetics of reversible polymerization J. Stat. Phys. 37 301-24
[42] Van Dongen P G J and Ernst M H 1985 Cluster size distribution on irreversible aggregation at large times J. Phys. A: Math. Gen. 18 2779-93
[43] Van Dongen P G J and Ernst M H 1988 Scaling solutions of Smoluchowski's coagulation equation J. Stat. Phys. 50 295-329
[44] Vigil R D, Ziff R M and Lu B 1988 New universality class for gelation in a system with particle breakup Phys. Rev. B 38 942-5
[45] White W H 1980 A global existence theorem for Smoluchowski's coagulation equation Proc. Am. Math. Soc. 80 273-6
[46] Ziff R M 1980 Kinetics of polymerization J. Stat. Phys. 23 241-63
[47] Ziff R M and Stell G 1980 Kinetics of polymer gelation J. Chem. Phys. 73 3492-9
[48] Ziff R M, Hendriks E M and Ernst M H 1982 Critical properties for gelation: a kinetic approach Phys. Rev. Lett. 49 593-5
[49] Ziff R M, Ernst M H and Hendriks E M 1983 Kinetics of gelation and universality J. Phys. A: Math. Gen. 16 2293-320

